
ASSEMBLY INSTRUCTION 

NOTES: 

• The item is only intended to be used indoors. The product must

be assembled and used in accordance with the provisions of the

manual.

• It is recommended that assembly is undertaken by about 2

adults. Please read assembly instructions before assembly and

strictly adhere to each step outlined. Estimated assembly time

is 30 minutes.

WARNING: 

• WARNIND FOR YOUNG CHILDREN - This product contains small

components, please ensure that they are kept away from small

children while assembling.



A B C D E

F G H I J

K L M

M8x55
4PCS

M6x50
4PCS

M6x40
4PCS

M6x35
8PCS

M6x30
2PCS

M6x25
2PCS

M6x15
8PCS

M6
12PCS

M6
2PCS

M8
1PC

M6
2PCS

M6
1PC 20PCS

∅22
8PCS

aa bb cc dd

ee ff gg hh ii jj kk ll mm nn

2PCS 1PC 1PC 2PCS 2PCS

4PCS 6PCS 2PCS 2PCS 4PCS

2PCS 1PC 1PC



B

A

A

E

DE

A

B

ggx4

iix2

ddx2

aax2

hhx4



E

D

C

ddx2

iix2

D hhx4

aax2

K

K

iix4

ddx4

K



H

H

H

ccx4

J

J

L

L

eex2

jjx2

bbx2

J

I

I

I



F
F

F

F

F

J

J

J

bbx2

ffx2

nnx8

F



G
G

G

G

G
G

G

nnx12

M

M
iix4

ggx4

G


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



